2.1 Wages and salaries.notebook

§. Evaluate 64 ~ without using a calculator.

1
9, Evalunte (=216) 73 without using 1 calculator.
w 10. Evaluate 4977 without using a calculntor

11, Evaluate 8177 without using a calculator.

12. Which power with & negative exponent is equivalent to 2t

125

(25¢)(25)
13, Simplify T by writing s a single power.
14. Simplify. Write using powers with positive exponents.

5 =1 '—Lly::
a) [i d*&'] . b At c) P
5

0.64

15, Evaluate TR E

Evaluate (n“'b"](a’b"] for @ = =1 and b= 3.
Sl
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19, Identify any errors in each simplification. Write n correct solution.
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